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896847 =3 X 7T x 7 x 6101 x 1

oooo
2P + 1 = 21(48620n + 42707)
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good

Q=44842900000
P = 5105100 + 448429

2P 4+ 1 =2(510510n + 448429) + 1 = 10210201 + 896858 + 1 = 10210201 + 896859
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good
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Q=4484330000
P = 510510 + 448433

2P + 1 = 2(510510n + 448433) 4+ 1 = 10210201 4 896866 + 1 = 10210201 + 896867
0000010210200 20 2003,5,7,11,13,17000000 1000000

896867 = 896867 x 1

o000 102102000 000000000000

2P 4+ 1 = 510510m + 386357
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Q=4484390000
P =510510n + 448439

2P 4+ 1 =2(510510n + 448439) + 1 = 1021020n + 896878 + 1 = 10210201 + 896879
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
896879 = 896879 x 1
o000 10210200 000000000000
2P +1 = 510510m + 386369
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Q=4484470000
P = 510510n -+ 448447

2P + 1 =2(510510n + 448447) + 1 = 10210201 + 896894 + 1 = 10210201 + 896895

0000010210200 20 2003,5,7,11,13,17000000 10000000

896895 =3 x 3 x5 x 19 x 1049 x 1

oooo
2P + 1 = 15(68068n + 59793)
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Q=4484510000
P = 510510n + 448451

2P 4+ 1 =2(510510n + 448451) + 1 = 10210201 + 896902 + 1 = 10210201 + 896903

0000010210200 20 2003,5,7,11,13,17000000 10000000

896903 =7 x 17 x 7537 x 1

oooo
2P + 1 = 119(8580n + 7537)
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good

Q=448453 0000
P = 5105100 + 448453

2P 4+ 1 =2(510510n + 448453) + 1 = 10210201 + 896906 + 1 = 10210201 + 896907

0000010210200 20 2003,5,7,11,13,17000000 10000000

896907 = 3 x 11 x 27179 x 1

oooo
2P + 1 = 33(30940n + 27179)

go0oOdoOoboOo33boobooooob0obooboooooooDoobDUoobDOobDOoboooboOooboo
good

Q=4484570000
P = 5105100 + 448457

2P + 1 = 2(510510n + 448457) + 1 = 10210201 + 896914 + 1 = 10210201 + 896915
0000010210200 20 2003,5,7,11,13,17000000 10000000

896915 =5 x 179383 x 1

oooo
2P + 1 = 5(204204n + 179383)
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Q=448463 0000
P = 510510n + 448463
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2P + 1 =2(510510n + 448463) + 1 = 1021020n + 896926 + 1 = 10210201 + 896927

0000010210200 20 2003,5,7,11,13,17000000 1000000

896927 = 896927 x 1
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2P 4+ 1 = 510510m + 386417
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Q=448471 0000
P = 510510n + 448471

2P + 1 = 2(510510n + 448471) 4+ 1 = 10210201 + 896942 + 1 = 10210201 + 896943
0000010210200 20 2003,5,7,11,13,17000000 10000000

896943 = 3 x 71 x 4211 x 1

oooo
2P + 1 = 3(340340n + 298981)

gooooooo3soooooooooboooobooboobooDboobboODoobboUOoDboO
goo

Q=448489 0000
P = 510510n + 448489

2P + 1 = 2(510510n + 448489) + 1 = 10210201 + 896978 + 1 = 10210201 + 896979
0000010210200 20 2003,5,7,11,13,17000000 10000000

896979 = 3 x 298993 x 1

oooo
2P + 1 = 3(340340n + 298993)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=448493 0000
P =510510n + 448493

2P 4+ 1 =2(510510n + 448493) + 1 = 10210201 + 896986 + 1 = 10210201 + 896987

0000010210200 20 2003,5,7,11,13,17000000 10000000

896987 = 7 x 13 x 9857 x 1

20



oooo
2P +1=91(11220n + 9857)
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Q=448499 0000
P =510510n + 448499

2P 4+ 1 = 2(510510n + 448499) + 1 = 10210201 4 896998 + 1 = 1021020n + 896999
0000010210200 20 2003,5,7,11,13,17000000 1000000

896999 = 29 x 30931 x 1

o000 10210200 000000000000

2P 4+ 1 = 510510m + 386489

goooooboobooboooobooboobooooboobboOoOoooooDon

Q=448501 0000
P = 510510n + 448501

2P + 1 = 2(510510n + 448501) 4 1 = 10210201 + 897002 + 1 = 10210201 + 897003
0000010210200 20 2003,5,7,11,13,17000000 10000000

897003 = 3 x 3 x 99667 x 1

good
2P + 1 = 3(340340n + 299001)
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goo

Q=4485070000
P = 5105100 + 448507

2P + 1 =2(510510n + 448507) + 1 = 1021020n + 897014 + 1 = 1021020n + 897015

0000010210200 20 2003,5,7,11,13,17000000 10000000

897015 =3 x5 x 7 x 8543 x 1

oooo
2P + 1 = 105(9724n + 8543)
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good
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Q=4485170000
P = 5105100 + 448517

2P + 1 = 2(510510n + 448517) 4+ 1 = 10210201 4 897034 + 1 = 10210201 + 897035
0000010210200 20 2003,5,7,11,13,17000000 10000000

897035 =5 x 179407 x 1

oooo
2P + 1 = 5(204204n + 179407)

gboobobooosOobobobooboboobOoboboobobOobUobDOobDobobOoOobOobDOobDOoo
goo

Q=4485190000
P = 510510n + 448519

2P + 1 = 2(510510n + 448519) + 1 = 10210201 + 897038 + 1 = 10210201 + 897039
0000010210200 20 2003,5,7,11,13,17000000 10000000

897039 =3 x3x 11 x13 x17x41 x 1

oooo
2P + 1 =7293(140n + 123)
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Q=448523 0000
P = 5105100 + 448523

2P + 1 =2(510510n + 448523) + 1 = 10210201 + 897046 + 1 = 1021020n + 897047
0000010210200 20 2003,5,7,11,13,17000000 1000000
897047 =19 x 31 x 1523 x 1
o000 10210200 000000000000
2P 4+ 1 =510510m + 386537
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Q=448529 0000
P = 510510n + 448529

2P 4+ 1 =2(510510n + 448529) + 1 = 10210201 + 897058 + 1 = 10210201 + 897059
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897059 = 897059 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 386549
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Q=448531 0000
P = 510510n + 448531

2P + 1 = 2(510510n + 448531) 4+ 1 = 10210201 + 897062 + 1 = 10210201 + 897063
0000010210200 20 2003,5,7,11,13,17000000 10000000

897063 = 3 x 67 x 4463 x 1

oooo
2P + 1 = 3(340340n + 299021)

obooboooo3obobobooooobobooooboboboobDobooobUobDOoooo
goo

Q=4485370000
P = 5105100 + 448537

2P + 1 = 2(510510n + 448537) 4+ 1 = 10210201 4 897074 + 1 = 10210201 + 897075
0000010210200 20 2003,5,7,11,13,17000000 10000000

897075 =3 x3x3x3xHxHx443 x 1

oooo
2P + 1 = 15(68068n + 59805)

ooooooboOobooboooooboboooooooooDobDOooDOobDOoboobOooboo
good

Q=4485410000
P = 510510n + 448541

2P + 1 =2(510510n + 448541) + 1 = 10210201 + 897082 + 1 = 10210201 + 897083

0000010210200 20 2003,5,7,11,13,17000000 10000000

897083 = 11 x 81553 x 1

oooo
2P +1 = 11(92820n + 81553)
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Q=4485430000
P = 510510n + 448543

2P + 1 = 2(510510n + 448543) + 1 = 10210201 4 897086 + 1 = 10210201 + 897087
0000010210200 20 2003,5,7,11,13,17000000 10000000

897087 = 3 x 299029 x 1

oooo
2P + 1 = 3(340340n + 299029)
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Q=4485490000
P = 5105100 + 448549

2P 4+ 1 = 2(510510n + 448549) + 1 = 10210201 4 897098 + 1 = 1021020n + 897099
0000010210200 20 2003,5,7,11,13,17000000 10000000

897099 =3 x 7 x 42719 x 1

oooo
2P + 1 = 21(48620n + 42719)

oboobooobo21000obobo0o0oooboboooboobo0obooboboooobOoobOoo
good

Q=448559 0000
P = 5105100 + 448559

2P + 1 = 2(510510n + 448559) 4+ 1 = 10210201 + 897118 + 1 = 10210201 + 897119
0000010210200 20 2003,5,7,11,13,17000000 1000000
897119 = 897119 x 1
0000 10210200000000000000
2P + 1 = 510510m + 386609

gbooboobooobooboboobboobboooboooboon

Q=4485610000
P = 510510n + 448561

2P 4+ 1 =2(510510n + 448561) + 1 = 1021020n + 897122 + 1 = 10210201 + 897123
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897123 =3 x 19 x 15739 x 1

oooo
2P + 1 = 3(340340n + 299041)
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goo

Q=448571 0000
P = 510510n + 448571

2P + 1 = 2(510510n + 448571) 4+ 1 = 10210201 + 897142 + 1 = 10210201 + 897143
0000010210200 20 2003,5,7,11,13,17000000 10000000

897143 =13 x 69011 x 1

oooo
2P + 1 = 13(78540n + 69011)

gooooOobo0oyooooOooobOobooooooooooDOobDOoOoDOobDOoboboboOooo
good

Q=4485730000
P = 510510n + 448573

2P + 1 =2(510510n + 448573) + 1 = 10210201 + 897146 + 1 = 1021020n + 897147
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

897147 =3 x 3 x 83 x 1201 x 1

oooo
2P + 1 = 3(340340n + 299049)

ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=4485770000
P = 5105100 -+ 448577

2P 4+ 1 =2(510510n + 448577) + 1 = 1021020n + 897154 + 1 = 1021020n + 897155

0000010210200 20 2003,5,7,11,13,17000000 10000000

897155 =5 x 7 x 25633 x 1

oooo
2P + 1 = 35(29172n + 25633)
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Q =448583 0000
P = 510510n + 448583

2P + 1 =2(510510n + 448583) + 1 = 1021020n + 897166 + 1 = 1021020n + 897167
oboo0o0o0ol10210200 20 2003,5,7,11,13,17000000 1000000

897167 =479 x 1873 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 386657

oooboobooobooboboobboobboobooobooo

Q=448589 0000
P = 510510n + 448589

2P + 1 = 2(510510n + 448589) + 1 = 10210201 + 897178 + 1 = 10210201 + 897179
0000010210200 20 2003,5,7,11,13,17000000 1000000

897179 = 109 x 8231 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 386669

goboobooobooboboobboobbooboooboon

Q=4485970000
P = 510510n + 448597

2P 4+ 1 =2(510510n + 448597) + 1 = 1021020n + 897194 + 1 = 10210201 + 897195

0000010210200 20 2003,5,7,11,13,17000000 10000000

897195 =3 x5 x 13 x 43 x 107 x 1
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2P + 1 = 195(5236m + 4601)

oboobobgoolysooooooooboobobooooooooboboboboDoooooo
good

Q=448601 0000
P =510510n + 448601

2P 4+ 1 =2(510510n + 448601) + 1 = 10210201 + 897202 + 1 = 10210201 + 897203
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897203 =41 x 79 x 277 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 386693

goboobooobooboboobboobbooboooboon

Q =4486030000
P = 510510n + 448603

2P + 1 = 2(510510n + 448603) + 1 = 10210201 4 897206 + 1 = 10210201 + 897207
0000010210200 20 2003,5,7,11,13,17000000 10000000

897207 = 3 x 23 x 13003 x 1

oooOo
2P + 1 = 3(340340n + 299069)

obooboooo3oboboboooooboboooOoboboboobDobooobOobOoooo
goo

Q=448607000 0
P = 5105100 + 448607

2P + 1 = 2(510510n + 448607) 4+ 1 = 10210201 4 897214 + 1 = 10210200 + 897215
0000010210200 20 2003,5,7,11,13,17000000 10000000

897215 =5 x 11 x 11 x 1483 x 1

oooo
2P + 1 = 55(18564n + 16313)
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good

Q=4486190000
P = 510510n + 448619

2P + 1 =2(510510n + 448619) + 1 = 10210201 + 897238 + 1 = 10210201 + 897239

0000010210200 20 2003,5,7,11,13,17000000 10000000

897239 =7 x 7 x 18311 x 1

oooo
2P + 1 = 7(145860n + 128177)
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Q=448621 0000
P =510510n + 448621

2P + 1 = 2(510510n + 448621) 4 1 = 10210201 4 897242 + 1 = 10210201 + 897243
0000010210200 20 2003,5,7,11,13,17000000 10000000

897243 =3 x 17 x 73 x 241 x 1

oooo
2P + 1 = 51(20020n + 17593)
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good

Q=4486270000
P = 5105100 + 448627

2P 4+ 1 = 2(510510n + 448627) + 1 = 10210200 + 897254 + 1 = 10210201 + 897255
0000010210200 20 2003,5,7,11,13,17000000 10000000

897255 =3 x 3 x5 x 127 x 157 x 1

oooOo
2P + 1 = 15(68068n + 59817)

ooooooooiboooobooooobobooobooboobooboboooobOoobOoo
good

Q=4486310000
P =510510n + 448631

2P + 1 = 2(510510n + 448631) 4 1 = 10210201 + 897262 + 1 = 10210201 + 897263
0000010210200 20 2003,5,7,11,13,17000000 1000000
897263 = 897263 x 1
0000 10210200000000000000
2P + 1 = 510510m + 386753

gbooboobooobooboboobboobboooboooboon

Q=4486330000
P = 510510n + 448633

2P 4+ 1 =2(510510n + 448633) + 1 = 10210201 + 897266 + 1 = 1021020n + 897267
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897267 =3 x 7 x 42727 x 1

oooo
2P + 1 = 21(48620n + 42727)
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good

Q=4486390000
P = 5105100 + 448639

2P + 1 = 2(510510n + 448639) + 1 = 10210201 + 897278 + 1 = 10210201 + 897279
0000010210200 20 2003,5,7,11,13,17000000 10000000

897279 = 3 x 349 x 857 x 1

oooo
2P + 1 = 3(340340n + 299093)
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goo

Q=448649 0000
P = 510510n + 448649

2P 4+ 1 =2(510510n + 448649) + 1 = 10210201 + 897298 + 1 = 10210201 + 897299
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

897299 = 13 x 23 x 3001 x 1

oooo
2P + 1 = 13(78540n + 69023)

oboobOooobooooooooooboboooboooboobooboboooobOoobOoo
googd

Q=448661 0000
P = 510510n + 448661

2P 4+ 1 =2(510510n + 448661) + 1 = 1021020n + 897322 + 1 = 1021020n + 897323

0000010210200 20 2003,5,7,11,13,17000000 10000000

897323 =7 x 128189 x 1

oooo
2P + 1 = 7(145860n + 128189)
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Q=4486630000
P = 510510n + 448663

2P + 1 =2(510510n + 448663) + 1 = 10210201 + 897326 + 1 = 1021020n + 897327

0000010210200 20 2003,5,7,11,13,17000000 10000000

897327 =3 x 3 x 179 x 557 x 1

good
2P + 1 = 3(340340n + 299109)
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goo

Q=448667 0000
P = 510510n + 448667

2P 4+ 1 =2(510510n + 448667) + 1 = 1021020n + 897334 + 1 = 10210201 + 897335

0000010210200 20 2003,5,7,11,13,17000000 10000000

897335 =5 x 197 x 911 x 1

oooo
2P + 1 = 5(204204n + 179467)
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ooo

Q=4486730000
P = 510510n + 448673

2P + 1 = 2(510510n + 448673) 4+ 1 = 10210201 + 897346 + 1 = 10210201 + 897347
0000010210200 20 2003,5,7,11,13,17000000 10000000

897347 =11 x 29 x 29 x 97 x 1

oooo
2P + 1 = 11(92820n + 81577)

oboobooobolnoooooobooobOboobobooobo0oboobUoboDoooDbOoobOoo
googd

Q=4486870000
P = 5105100 + 448687
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2P + 1 =2(510510n + 448687) + 1 = 1021020n + 897374 + 1 = 1021020n + 897375

0000010210200 20 2003,5,7,11,13,17000000 10000000

897375 =3 x5 xbHxbHx2393 x1

oooo
2P + 1 = 15(68068n + 59825)
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Q=448691 0000
P =510510n + 448691

2P + 1 = 2(510510n + 448691) + 1 = 10210201 + 897382 + 1 = 10210201 + 897383
0000010210200 20 2003,5,7,11,13,17000000 1000000

897383 = 211 x 4253 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 386873

gboboobooobooboboobboobboobooobooo

Q=448697 0000
P = 5105100 + 448697

2P + 1 = 2(510510n + 448697) + 1 = 10210201 + 897394 + 1 = 10210201 + 897395
0000010210200 20 2003,5,7,11,13,17000000 10000000

897395 =5 x 179479 x 1

oooo
2P + 1 = 5(204204n + 179479)
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Q=448699 0000
P = 5105100 + 448699

2P 4+ 1 =2(510510n + 448699) + 1 = 10210201 + 897398 + 1 = 10210201 + 897399

0000010210200 20 2003,5,7,11,13,17000000 10000000

897399 =3 x3x3x3x3x3x1231 x1
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Q=4487030000
P = 510510n + 448703

2P 4+ 1 = 2(510510n + 448703) + 1 = 10210200 + 897406 + 1 = 10210200 + 897407
0000010210200 20 2003,5,7,11,13,17000000 10000000

897407 =7 x 128201 x 1

oooo
2P + 1 = 7(145860n + 128201)

oooooooovoooooobooboooooooboooooooDooOobOboOoooobObOBbOoOn
ooo

Q=4487090000
P = 510510n + 448709

2P + 1 = 2(510510n + 448709) 4 1 = 10210201 + 897418 + 1 = 10210201 + 897419
0000010210200 20 2003,5,7,11,13,17000000 1000000
897419 = 31 x 28949 x 1
0000 10210200000000000000
2P + 1 = 510510m + 386909
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Q=4487110000
P = 510510n + 448711

2P 4+ 1 =2(510510n + 448711) + 1 = 1021020n + 897422 + 1 = 10210201 + 897423

0000010210200 20 2003,5,7,11,13,17000000 10000000

897423 = 3 x 389 x 769 x 1

oooo
2P + 1 = 3(340340n + 299141)
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goo
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Q=4487170000
P = 5105100 + 448717

2P 4+ 1 =2(510510n + 448717) + 1 = 1021020n + 897434 + 1 = 10210201 + 897435

0000010210200 20 2003,5,7,11,13,17000000 10000000

897435 =3 x 3 xbxTx7Tx11x37x1
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2P + 1 = 1155(884n + 777)
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Q=4487270000
P = 5105100 + 448727

2P 4+ 1 =2(510510n + 448727) + 1 = 1021020n + 897454 + 1 = 1021020n + 897455

0000010210200 20 2003,5,7,11,13,17000000 10000000

897455 =5 x 13 x 13807 x 1

good
2P +1 = 65(15708n + 13807)
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Q=4487290000
P = 5105100 + 448729

2P 4+ 1 =2(510510n + 448729) + 1 = 10210201 + 897458 + 1 = 10210201 + 897459

0000010210200 20 2003,5,7,11,13,17000000 10000000

897459 = 3 x 293 x 1021 x 1

oooo
2P + 1 = 3(340340n + 299153)
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Q=4487330000
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2P + 1 = 2(510510n + 450283) + 1 = 10210201 4+ 900566 + 1 = 10210201 + 900567
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2P + 1 = 2(510510n + 450287) + 1 = 1021020n + 900574 + 1 = 1021020n + 900575
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P = 5105100 + 450299

2P + 1 = 2(510510n + 450299) 4+ 1 = 10210201 4+ 900598 + 1 = 10210201 4+ 900599
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2P + 1 = 2(510510n + 450323) + 1 = 10210201 4 900646 + 1 = 10210201 + 900647
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P = 5105100 + 450349

2P 4+ 1 = 2(510510n + 450349) + 1 = 10210201 4 900698 + 1 = 1021020n + 900699
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P = 510510n + 450353

2P + 1 = 2(510510n + 450353) 4+ 1 = 10210201 4 900706 + 1 = 10210201 + 900707
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P = 510510n + 450367

2P + 1 = 2(510510n + 450367) 4+ 1 = 10210201 4+ 900734 + 1 = 10210201 + 900735
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2P 4+ 1 =2(510510n + 450377) + 1 = 10210201 + 900754 + 1 = 10210201 + 900755
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P = 510510n + 450379

2P + 1 =2(510510n + 450379) + 1 = 10210201 + 900758 + 1 = 10210201 + 900759
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P = 510510n + 450383

2P 4+ 1 =2(510510n + 450383) + 1 = 10210201 + 900766 + 1 = 10210207 + 900767
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2P + 1 = 2(510510n + 450389) + 1 = 10210201 4+ 900778 + 1 = 10210201 + 900779
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oooo
2P + 1 = 187(5460n + 4817)
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P = 510510n + 450397

2P + 1 = 2(510510n + 450397) + 1 = 10210201 4+ 900794 + 1 = 10210201 + 900795
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Q=4504030000
P = 510510n + 450403

2P + 1 = 2(510510n + 450403) 4+ 1 = 10210201 4 900806 + 1 = 10210201 + 900807
0000010210200 20 2003,5,7,11,13,17000000 10000000

900807 = 3 x 43 x 6983 x 1
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P = 5105100 + 450407

2P 4+ 1 =2(510510n + 450407) + 1 = 1021020n + 900814 + 1 = 10210201 + 900815
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Q=4504090000
P = 510510n + 450409

2P 4+ 1 = 2(510510n + 450409) + 1 = 10210201 4 900818 + 1 = 1021020n + 900819
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P = 510510n + 450413

2P + 1 =2(510510n + 450413) + 1 = 10210201 + 900826 + 1 = 10210207 + 900827
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2P + 1 = 510510m + 390317
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P = 510510 + 450419
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P = 510510n + 450421

2P + 1 = 2(510510n + 450421) 4 1 = 10210201 4 900842 + 1 = 10210201 + 900843
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P = 5105100 + 450427

2P + 1 = 2(510510n + 450427) + 1 = 10210201 4+ 900854 + 1 = 10210201 + 900855
0000010210200 20 2003,5,7,11,13,17000000 10000000
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Q=4504310000
P = 5105100 + 450431

2P + 1 = 2(510510n + 450431) 4+ 1 = 10210201 4+ 900862 + 1 = 10210201 4+ 900863
0000010210200 20 2003,5,7,11,13,17000000 1000000
900863 = 900863 x 1
0000 10210200000000000000
2P + 1 = 510510m + 390353
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P = 510510n + 450433

2P 4+ 1 =2(510510n + 450433) + 1 = 10210201 + 900866 + 1 = 10210207 4 900867
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Q=450451 0000
P = 510510n + 450451

2P + 1 = 2(510510n + 450451) 4+ 1 = 10210201 4+ 900902 + 1 = 10210201 4 900903
0000010210200 20 2003,5,7,11,13,17000000 10000000

900903 = 3 x 300301 x 1
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2P + 1 = 3(340340n + 300301)
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2P 4+ 1 =2(510510n + 450467) + 1 = 1021020n + 900934 + 1 = 1021020n + 900935
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Q=450469 0000
P = 5105100 + 450469

2P 4+ 1 =2(510510n + 450469) + 1 = 10210201 + 900938 + 1 = 10210201 + 900939
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P = 510510n + 450473

2P + 1 = 2(510510n + 450473) + 1 = 10210201 4+ 900946 + 1 = 10210201 + 900947
0000010210200 20 2003,5,7,11,13,17000000 1000000
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P = 510510n + 450479
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124



0000010210200 20 2003,5,7,11,13,17000000 10000000

900975 =3 x b5 xbx41 x293 x 1

oooo
2P + 1 = 15(68068n + 60065)

obooboooolibhoooboboooooboboooboooboobooboboooobOobobOoo
good

Q=450491 0000
P = 510510n + 450491
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2P 4+ 1 =2(510510n + 450493) + 1 = 10210207 + 900986 + 1 = 10210207 + 900987
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ooboobooo3oboboboooooboboooOobobobDobDobooobOobOoobDoo
goo

Q=4504970000
P = 5105100 + 450497

2P 4+ 1 =2(510510n + 450497) + 1 = 10210201 + 900994 + 1 = 10210201 + 900995
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2P + 1 = 5(204204n + 180199)
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P = 510510n + 450503

2P + 1 = 2(510510n + 450503) 4+ 1 = 10210201 4 901006 + 1 = 10210201 + 901007
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Q=4505290000
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